Estimated Cost: <u>9,74,682/-</u>

02% Earnest Money Tender Cost Rs. 3000/=

Subject:

IMPROVEMENT OF TAJ GROUND UC 03 (P&S) LANDHI ZONE DMC

**KORANGI** 

S #	Description	Qty	Rate	UNIT	Amount
1	Earth filling out side sources new earth	42180	3630	% 00 Cft	1,53,113/-
2	Presing slap of bank or grate surface	42180	378.13	% Sft	1,59,495/-
3	Providing and laying spreading mouram etc. complete	7171	60/-	Cft	4,30,260/-
4	Distempering two coats etc.  complete	6592	1043.90/-	% Sft	68,814/-

lft 1358.33/-	P/Rft	1,63,000/-
-		

1) Time Limit : One Month
2) Penalty : Rs. 1000/= Per Day

	y Quoted the our rate at 's Signature	% above / below the schedule of rate.
Address:		0/2,
		( Wind of

Estimated Cost: 9,99,000/- 02% Earnest Money Tender Cost Rs. 3000/=

Subject:

#### IMPROVEMENT OF WARSI PARK UC 10 (P&S) LANDHI ZONE DMC KORANGI

S#	Description	Qty	Rate	UNIT	Amount
1	Dismentling CC Block Masonry etc. complete	1956 Cft	@1134.38	% Cft	22188/-
2	P/F Iron steel grill using saild square bars size ½" x ½" placed at 4" I/C and frame of flat iron patti of ¾" x ¾" I/C circle shap at 1-0 a part equavent fitted with sereve are pins I/C painting 3 corts with 1st cost of red oxide paints etc. complete	1160 Sft	@231.60/-	P / Sft	2,68,656/-
3	Cement concrete plain including placing compacting finishing and curing complete (Including screening and washing of stone Aggregate) without stuttering.  (A) Raio 1:2:4 (16/5)	1752 Cft	14429.25	% cft	2,52,800/-
4	Erection and removal of centering for RCC or plain cement concerete works of partal wood (b) Vertical (18/19)	4672 Sft	3127.41/-	% sft	1,46,113/-
5	Construction of pumping room 4 x 4 x 4 Block Masonary pre cast slabe and don steel gate etc.	01 Job	12000/-	Each	12000/-
6	Prepairing surface and paint grade bars of iron work grating painting etc. complete	1160 Sft	674.60/-	% Sft	7825/-

			TOTAL	AMOUNT	9,99,000/-
8	Supplying and spreading cowdung manure free for salt and all dieses etc. complete	3885 cft	20/-	P / Cft	77,700/-
7	Supplying and spreading Garden soil (sweet earth) free for salt and grass roots etc. complete	6527 cft	35/-	P/Cft	2,28,445/-

1)

Time Limit : One Month
Penalty : Rs. 1000/= Per Day 2)

	by Quoted the our rate at 's Signature	% above / below the schedule of rate.
Address:		1.00/
		Jour Le
	· · · · · · · · · · · · · · · · · · ·	X ·



Estimated Cost: 9,69,857/- 02% Earnest Money Tender Cost Rs. 3000/=

Subject:

IMPROVEMENT OF SHAUHDA-E-HAQ PARAST PARK UC 08 (P&S) LANDHI

**ZONE DMC KORANGI** 

S#	Description	Qty	Rate	UNIT	Amount
1	Booring for tube will in all water bearing soil from ground level upto 100 fir or 30.5 meter depth I/C sinuing and with deawing of casing pipe 6" dia etc complete	1500 Rft	1358.33/ P- rft	P/Rft	2037495/-
2	Distempering two coats at any hight any flower etc. complete	3840 Sft	@1043.90/-	% Sft	40,086/-
3	Supplying and spreading Garden soil (sweet earth) free for salt and grass roots etc. complete	5950 cft	35/-	P / Cft	2,082,50/-
4	Supplying and spreading cowdung manure free for salt and all dieses etc. complete	3927 cft	20/-	P / Cft	78,540/-
5	P/F pre cost cement benches etc. complete	15 Nos	15000/-	Each	2,25,000/-

	rice to Leight	43 Nos	5000/-	Each	2,15,000/-
8	Supplying of best quality that plants tree 16" Height				
	Providing grass shawer machine 18" made by Pakistan.	01 No	17000/-	Each	17000/-
	P/F piston pump 2 HP made by Pakistan.	01 No	16000/-	Each	16000/-

1) Time Limit : One Month

2) Penalty : Rs. 1000/= Per Day

l/we hereb	y Quoted the our rate at	% above / below the schedule of rate.
Contractor Address:	's Signature	_
		Je day
	······································	<i>X</i> '

Estimated Cost: 9,96,533/- 02% Earnest Money Tender Cost Rs. 3000/=

Subject:

IMPROVEMENT OF HASNA ABAD PARK UC 12 (P&S) LANDHI ZONE DMC **KORANGI** 

S#	Description	Qty	Rate	UNIT	Amount
1	Color Cement tiles petron 12" x 12" x 1" of approve shade and petron laid flate 1: 2 Grey Cement motor over a late of 3/4" thick grey cement morter 1: 2 etc. complete	4000	9427.84/-	% Sft	3,77,114/-
2	Cemer t concrete bricks over stone ballast 1.5 to 2" guage reshio (1:4:8) etc. complete	1320	9416.28	% Cft	1,24,295/-
3	Booring for tube will in all water bearing soil from ground level upto 100 fit or 30.5 meter depth I/C sinuing and with deawing of casing pipe 6" dia etc complete	130	1358.33/-	P/Rft	1,76,583/-

			TOTAL A	MOUNT	9,96,533/-
9	Supplying & spreading garden soil (Sweet Earth) free for salt and grass roots etc. complete	5000	35/-	P/Cft	1,75,000/-
8	Cement plaster 1:4 up to 20 Fit height from ground floor etc.	1440	2283.93/-	% Sft	32,889/-
7	Distumber two cots any height any floor etc. complete	4200	1043.90/-	% Sft	43,844/-
6	P/F mor o block 2 HP made by Pakistan	02 Nos	16000/-	Each	32,000/-
5	P/F pistion pump 2 HP made by Pakistar	02 Nos	16000/-	Each	32,000/-
4	P/L Jointing PCV Pipe of class B,C & D and fixing entrench I/C cutting fitting & jointing with maxphall composition and jointing with solve cement I/C testing with water to head of 61 meter to 122 meter or 200 fit	400	7.02/-	P/Rft	2808/-

1) Time Limit : One Month

2) Penalty : Rs. 1000/= Per Day

I/we hereby	y Cluoted the our rate at	% above / below the schedule of rate.
Contractor' Address:	s Signature	
Audress.		July Cu

Estimated Cost: 897510+ O/R

02% Earnest Money

Tender Cost Rs. 3000/=

3

Subject:

IMPROVEMENT OF PARK FAIZAN-E-RAZA EID GAH GROUND LANDHI ZONE DMC

<u>KORANGI</u>

S #	DESCRIPTION	QTY	RATE	UNIT	AMOUNT
1	Excavation in foundation of building bridges and other structure I / c dagbelling dressing refilling with excavated earth watering and ramming lead up to 5 feet  a) In ordinary soil  b) In hard soil on soft soil	1440 cft	3176.25	% P / Cft	4574
2	Cement concerete brick or stone ballasts 1.5 to 2" guage (b) Ratio 1:4:8	480 cft	9416.28	% cft	45198
3	Cement doncrete plain including placing compacting finishing and curing complete (Including screening and washing of stone Aggregate) without stuttering.  (A) Ra o 1:2:4 (16/5)	3200 cft	14429.25	% cft	461736
4	Erection and removal of centering for RCC or plain cement concerete works of partal wood (b) Vertical (18/19)	6400 sft	3127.41	% sft	200154

5	Cement Paster ½" thick etc.	5760 sft	2283.93	0/ -6	
6	Reinforcedment cement conceret work I/C all labour, material except the cost of steel reinforcedment its labour leveling etc.		337	% sft P-Cft	7751
7	Fabrication mild steel rainforcedment for cement conceret including cutting lending, laying etc.	0.61 cft	4820.20	Puel	2940
3	Making and fixing steel gate door with 1/6 thik shutring including angle iron frame 2" x 2" x 3/8" and ¾" sq bar etc.	68 sft	726.72	P-Sft	43603
	Booring for tube will in all water bearing soil from ground level upto 100 fit or 30.5 meter depth I/C sinuing and with deawing of casing pipe 6" dia etc complete	70 Rft	1358.33	P- Rft	95,083
			TOTAL	MOUNT	9,92,593

1) Time Limit : One Month

2) Penalty : Rs. 1000/= Per Day

I/we hereb	y Quoted the our rate at	% above / below the schedule of rate.
Contractor' Address:	s Signature	
		The state of the s

Estimated Cost: 587351+ O/R

02% Earnest Money

Tender Cost Rs. 3000/=

Subject:

## IMPROVEMENT OF MASJID-E-ISHAQ PARK UC-06 LANDHI ZONE DMC KORANGI

S#	DESCRIPTION	QTY	RATE	UNIT	AMOUNT
1	Excavation in foundation of building bridges and other structure I / c dagbolling dressing refilling with excavated earth watering and ramming lead up to 5 feet  a) In ordinary soil b) In hard soil on soft soil		3176.25	% P / Cft	4955
2	Cement concerete brick or stone ballasts 1.5 to 2" guage (b) Ratio 1:4:8	390 cft	9416.28	% cft	36723
3	Cement doncrete plain including placing compacting finishing and curing complete (Including screening and washing of stone Aggregate) without stuttering.  (A) Raio 1:2:4 (16/5)	1755 cft	14429.25	% cft	253233
4	Erection and removal of centering for RCC or plain cement concerete works of partal wood (b) Vertical (18/19)	3510 sft	3127.41	% sft	109772

5	Cement Paster 1/2" thick etc.	2730 sft	2283.93	% sft	62351
6	Reinforcedment cement conceret work I/C all labour, material except the cost of steel reinforcedment its labour leveling etc.		337	P-Cft	27297
7	Making and fixing steel gate door with 1/6 thik shutring including angle iron frame 2" x 2" x 3/8" and ¾"sq bar etc.	128 sft	726.72	P-Sft	93020
8	Providing / laying mosaic benches supplying and fixing etc.	10 Nos	5000	P-No	50,000
9	Supplying and spreading garden soil sweet earth free for salt and grass roots etc.	4500 cft	35	P-Cft	1,57,500
10	Supplying and spreading Cowdung manure free for all deceased etc.	2970 cft	20	P-Cft	59,400
11	Booring for tube will in all water bearing soil from ground level upto 100 fit or 30.5 meter depth I/C sinuing and with deawing of casing pipe 6" dia etc complete	100 rft	1358.33	P- Rft	1,35,833
		<u></u> <b>_</b> _	TOTAL	AMOUNT	9,90,084

Time Limit : One Month
Penalty : Rs. 1000/= Per Day 1)

2)

I/we hereby Quoted the our rate at	_ % above / below the schedule of rate.

Contractor's Signature Address: